

Nama: Muhammad Kasyfurrahman

NIM: 03051181722002

Kelas: Teknik Mesin B

$$G(s) = C(sI - A)^{-1}B + D$$

$$= [1 \ 0] \left\{ \begin{bmatrix} s & 0 \\ 0 & s \end{bmatrix} - \begin{bmatrix} 0 & 1 \\ -\frac{k}{m} & -\frac{b}{m} \end{bmatrix} \right\}^{-1} \begin{bmatrix} 0 \\ \frac{1}{m} \end{bmatrix} + 0$$

$$= [1 \ 0] \begin{bmatrix} s & -1 \\ \frac{k}{m} & s + \frac{b}{m} \end{bmatrix}^{-1} \begin{bmatrix} 0 \\ \frac{1}{m} \end{bmatrix}$$

$$\begin{bmatrix} s & -1 \\ \frac{k}{m} & s + \frac{b}{m} \end{bmatrix}^{-1} = \frac{1}{s^2 + \frac{b}{m}s + \frac{k}{m}} \begin{bmatrix} s + \frac{b}{m} & 1 \\ \frac{k}{m} & s \end{bmatrix}$$

$$G(s) = \frac{1}{ms^2 + bs + k}$$

$$y = \begin{bmatrix} y_1 \\ y_2 \\ \vdots \\ y_m \end{bmatrix} \quad u = \begin{bmatrix} u_1 \\ u_2 \\ \vdots \\ u_r \end{bmatrix}$$

$$Y(s) = G(s)U(s)$$

$$\begin{Bmatrix} y_1 \\ y_2 \\ \vdots \\ y_n \end{Bmatrix} = \begin{Bmatrix} \frac{1}{ms^2 + bs + k} u_1 \\ \frac{1}{ms^2 + bs + k} u_2 \\ \vdots \\ \frac{1}{ms^2 + bs + k} u_m \end{Bmatrix}$$

$$\begin{Bmatrix} y_1 \\ y_2 \\ \vdots \\ y_n \end{Bmatrix} = \begin{Bmatrix} \frac{1}{ms^2 + bs + k} u_1 \\ \frac{1}{ms^2 + bs + k} u_2 \\ \vdots \\ \frac{1}{ms^2 + bs + k} u_m \end{Bmatrix}$$

ex 2-3 $G(s) = C(sI - A)^{-1}B + D$

$$\frac{y(s)}{u(s)} = \left([0 \ 1 \ 0] \begin{bmatrix} s & 0 & 0 \\ 0 & s & 0 \\ 0 & 0 & s \end{bmatrix} - \begin{bmatrix} -11 & -56 & -160 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{bmatrix} \right)^{-1} \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix} + 0$$

$$\frac{y(s)}{u(s)} = [0 \ 1 \ 0] \begin{bmatrix} s+14 & 56 & 160 \\ 1 & s & 0 \\ 0 & -1 & s \end{bmatrix}^{-1} \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix} + 0$$

$$\frac{y(s)}{u(s)} = [0 \ 1 \ 0] \frac{1}{(s^3 + 14s^2 - 60) - (56s)} \begin{bmatrix} s^2 + 14s - 56 & -s & -1 - s \\ -56s - 160 & s^2 + 14s & s + 4 \\ -160 & -160 & s^2 + 14s - 56 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix} + 0$$

~~$$\frac{y(s)}{u(s)} = [0 \ 1 \ 0] \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix} + 0$$~~

$$\frac{y(s)}{u(s)} = \begin{bmatrix} 0 & 1 & 0 \end{bmatrix} \begin{bmatrix} \frac{s^2 + 14s - 56}{s^3 + 14s^2 - 56s - 160} \\ -56s - 160 \\ \frac{-160s}{s^3 + 14s^2 - 56s - 160} \end{bmatrix}$$

$$G(s) = \frac{-56s - 160}{s^3 + 14s^2 - 56s - 160}$$